A
mﬂ:mmmt @ w©|q &)
S — SR . . =S e ————
qﬂnﬂmﬂm- ) ‘ 'iqﬁmi’tﬁ'ﬁ:rm
@ Ery Ht
s {mmmi_' N | T ]
FgEA (= A) BGLC I B g =t
mmwwmwmmﬁmmrm#wmh
e [ | -t & gy

lm-qﬁﬁmﬂmmy*%ﬂﬁwrmm@am
(FGoT T ATH)

W;mﬁﬁ%omnmmtmnagﬁmﬁat nmmmlﬂmmtmgianmgmaﬂt
OMR 35X 3% "gwal & |

wea-gfaw ¥ @dw

1 mmmmmﬁarﬂﬁmmMmamwmmﬂmM|ﬁmmm'aua:rmtm
R @ so-a B EEuEAES e gEE sfaftest qof & e |

2 mm#%mtmmamwmmmmuﬁrﬁﬁrﬂmﬂﬁﬁrma—g&awaﬁm#m
& g% ¢ T TAGRAE & Q¥ 100 W Rew gt wER § FAe € | ARt A R A qFa TA-gFas dTd o | 9
mmﬂﬁmﬁwaﬁmmmmmmwmmﬁMﬁthtm
Mmamm:awaaﬁ#|

3. mwaawammﬂ#mﬁ|maﬁm$ﬁmﬂmmﬁwm T 3eal 9T 1 3 Fie foam smem
T e weA & U @ QS A N RS 9K 3T WA N Icak HART I |

: FUANT, Seor-ar s F fordy frad oo & A T € 39@ Heags ST aRd gU 3AE aeA # |

5. I A mef Rt 7 e aw U= o & HY /o |

6. TfET & 2w afy wE ahEm en srierw, TREAOEE svar oREe F sfefEt ga RF w2 Rt w1 oea Af war & e
aF Ffa AU T A E Y wA-giFdasr wsa, SeaR-aE WIEAT, SRA-GFAH AT FHS FE 9T qE S, = oiEntaat
ﬂwu@wmm#mm areftar @, fAf@a et Al Sl #1 New-vaE S yar 3adt R
YH 1 HfId FEEE Far g, mmmmﬂﬁmmmﬁwmmﬁ:@mnﬁam;
ey § dfda & ¢ |

7. qfeT ¥ 2hiA ARRad, seaiae Fodacy, oK, HEEd BiF G FNIESE F1 996 afsiE § o

8. SeR-TE # MY WEAUETES AW 99 @ HY F 3o F M A & ogd gRREa R J weman oA quR & g /E @l

WA, oA & order -
15 W,miwﬂnﬂaﬁ.'#aﬂzﬂqﬁﬁaﬂmda#ﬂf|qﬁ&3,4$mmﬁmﬁﬁmmt\a#aﬂtl
9edd oA & 3cal 38F AN a4 gt AT A § o Of W9 w@d aESH @1, qU- e @ 99 | AU |

2,
3 mmaﬁraﬁtaaﬂwwmoo.omaﬁ*@@O@
4,

Se-aiE At sl # & | R A OE 9@ oY § R gEd wd Awd o oS o @ ¥ e s ge e A afy 9t wd
YH @ HIT | wuA vd Zade ufd e & e lwe & SA ST aw S afa 3ua w3y |

5. Fe1 Adwd & oW He A od Rad wfd we-aae s e et @) AR # ol 4t 9fF s A Far € oar sEd
mmmymmmam:

6 Seay A A AE A AW $H W AE M I® FE AG T | T FA WeA-ofFaw & R v 91 @ ST

Iljlw Page: | 354997

L



SECTION - |
MATHEMATICS

1. Two straight lines 3x-2y=05 and

Jy+kyv+7=0 are perpendicular to each
other. The value of k is

a) 3 (B)

>

raa

€3

G|

o 1
3

The value of sin 8 + cos(90 +8) + sin(180 - 8) +

r

sin (180 +8) is

(A) 1 () 1
2

o (D) —1

: A train passes telegraph post in 40 seconds

mowing at a rate of 36 km/h. Then the length of
the train is

(A) 450 m
(€) 400 m

(8) 385 m
(D) 500 m

¢ In the given figure, the value of /DEC is

(A) ss5-

(C) &5°

I

1

L

-
w a

— -
o

gl W @Ry 3x-2y=5 v

2x+ky+7=0 TP TR W aw § o |

& AE B

(A) (B)

3
5 —

© 3 (D)

Wl Wis

sin 6+ Cos(90 + 8) + sin(180 - g) ,
sin (180 + @) HI AM & -
(A) 1 (8) 1

2

© o (@) —1

@ YT feRfl Sefme dre @y 40
HPe § 36 km/h @ 91d ¥ IR P
g, @ Y Y e ¥

(A) 450 m (B} 395 m
(© 400 m (D) 500 m

e ™ o & e &1 oA &

A B
(A) 557 (8) 45°
tCI 65° ID) 750
Paies —————e_
Page: 5 ———
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The sum of two numbers is 11 and their * afy @ st & A g IR AP

product is 30, then the numbers are oE®A 30 B, A wend el -
(A) 7, 4 ® 6,5 (A) 7. 4 8) g, 5
(© 39,2 (©) 8,3 © 9 2 (0) 8, 3

' ' -3 2
lfsls'5;—5_3-2:'5.‘2Th@nﬁ‘al‘vMuPof o ufX 5'-\.5x53+5 f2:53+ a a @

ais CIC .
a) B (8) 4 (A) 8 (8) 4
s ©) 6 © s (D) 8

W A P PO PTG 15 12 F
A A B G TS BT E -

Angles of 2 triangle are in ratio of 1:5:12,
tnggest angle of this tniangle is

N 45 ® 90°
A e (B) 90°
© 120 © 60° W 45
(c) 120° (D) 60°
s 729 * 3[ 729
The value of e W 25 1 WM ®
\ 04096 0.4096
i None of these {8) 5.652 (A) 8 F HIE T8 (B) 5.652
0 $.625 ) 5.265 (A 5.625 (D) 5.265

e compound imerest on% 24,000 9 I 24000 B 10% dMH @ B I A
compounded semi-annually for lgyearsatthe 11 af &1 g feaar 8, wEfe @S
2

-ate of 10% per annum are oy BEE T el WEl § ?
(A) T 3583 (8 T 3774
W 7 3583 & %3774
, E (© % 3780 () T 3,783
0 7 3780 o) 73,783

sn:-seir=1 then the value of |10 IfY sinx +sin®x=1, @

(OS" X~ COS™“x 15 {:0321 P (‘03“1 H A = 2
(Al -1 ® 2 " — . 5
0 ©) 1 & o o i

WILH -



The volume of cylinder is
height 7 cm. Then its lateral surface area is

(A) 259 em* (8) None of these

(© 252 cm? (0) 352 cm?

the value of ‘a’ is
(A) 12

(€ 31

() 18
(D) 49

13.
to the perimeter of a square of side 11 cmis

(A) 154 cm? (8 124 cm?
(© 144 cm? (0) 134 cm?
14 The HCF of two  polynomials

p(x) = 4x*(x? - 3x + 2) and

q(x) = 12x(x — 2)(x? — 4) is 4x(x -2).

The LCM of polynomials is
(A 12x%(x? —3x + 2) (x? — 4)

(8 4x(x —2)
© 12x(x? - 3x +2) (x* + 4)
© x2(x2—3x+2) (x? - 4)

15. Find the value of complementary angle of 75°¢
(A) 30° (8) 85°

(€) 45° (D) 15°

HHHN
i |

If 7 is the mean of 5, 3, 0.5, 4.5, 3, 8.5, 9.5 then

The area of circle whose circumference is equal

448 wcm?® and 1

12.

13.

N ErE S MRS DO |
448nm33ﬂ¢ﬁ|ﬁﬂ17cmﬂ.a‘tm
q% gss &1 B 7

(™ 259 cm? ®) Iz TEl

© 252 cm? (®) 352 cm?

5, 3, 0.5, 4.5, a 8.5 9.5 T W 7
@ B A E
(A) 12
© 31

I9 ga & &Fpa fha ¥ R oRkfy,
# cm Yo 9l a1 & dXER § ?

(8) 18
(D) 49

(A 154 cm? (8 124 cm?
(© 144 cm? (® 134 cm?

@ dgwEl p(x) = 4x%(x? - 3x 4+ 2)
AR q(x) = 12x(x - 2)(x* -4)
"N, 4x(x -2) 8 989G BT AW ® -
W 12x%(x* -3x+2) (x* - 4)
®  4x(x-2)
©  12x2(x? —3x + 2) (x? + 4)

@ x2(x?-3x+2) (x2 - 4)

P 75° F P R PIOT BT A &
(A} 30° (8) 85°

@ 45 ©  15°

=



The value of x{("‘ﬁ y—log z) . Y“OB 2-logx)

(log x - o ;
w7 £ € ¥)is equal to

(A) O
€ 3

(8) S

(©) 1

17 tan 3A -tan 2A - tan A is equal to
(A) tan3A-tan2A-tan A
(B) tan 3A +tan 2A +tan A
(C) tan3A-tan2A-tan A

(D) None of these

Iftan@ +sin@ =mand tan B - sin B = n. Then

the value of m® — niis

®) ymn

(A 4y mn

(¢} 4 mn @) 2ymn

In figure £BAP = 80° and £ABC = 30°, then

(14

Y{log z—log x)

z{losr—log y) daR & -

16. logy-logz
X( gy - log Ix

®
(A) 0
() 3

(8) 5
(D) 1

7 tan 3A . tan 2A . tan A X &
(A) tan 3A - tan 2A - tan A
(B) tan 3A + tan 2A + tan A
(© tan 3A - tan 2A - tan A

(0 3 q P &

8 I tan @ + sin @ = m 3R tan @ -
sing =n@ @ m?-p? B AT E

W aymn o)/
9. 4 mn (D) 2vmn

19. 3 ¥, ,pApP=80° 3R ABC =30°

£AQC will be £AQC ®T | B
D\ \
o ) \
\_
_ &
) N
P A Q P
A) 50° (8 110° (A) 50° (B) 110°
(€l 65- (D) 55° (c) 65° (D) 55¢
2 (fA= 4x + -thenthe valueof A + i is 20. ofg A= 43c'+l ar A+ i PI AT %’ =
(A) 1 (8) x (A) 1 (B) X
4x3 + x 4x% + 1 4x3 + x 4x% +1
(€) None of these 0 4x%+1 © P & (D) 4x% +1
X X
Page: 5
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ece of work in 72 days. B
d A and Cin 90 days. In

21 A and Bcando 2 pi
and C in 120 days an
what time can A alone doit?

(A) 55 days (8) 60 days
(C) 120 days (D) 110 days
22 The value of tan 15°is
A 2443 | 2
V3
(c) 1 =
© 2 -3

-
-

b

Use the following figure to find x2 and Y‘-‘"

x =50%y =30°
(B) ¥y = 30:'}, = 50:
@ x=50%y = 60°

lD} r= 555‘:{ — 65:

24 The value of

.
15
\"IOJ*JZ_O*VT&-—JE_\@B
(A) /= =
Vs(s+v2) ® V5(1 +v2)

c .4 -
v 3(3 + \rz) (D) V‘E(z N r_)
V2

21

|
|

22

23.

24.

““Bﬁﬂﬂmﬁﬁaw;zﬁ;{f
Fe & B I% C S W 3
ﬁ‘l’lﬂ'ﬁﬂTAaﬁ"\'c, goﬁ__ﬁﬁaﬁﬂﬂ
A3ﬁﬁTGH3W1$TﬁmﬁfEﬁﬁEﬁ{$
?

() 55 T # B 60 f}
© 120 fa=1 & () 110 R
an15° @AM ¥ -
A 243 ® 2
V3
(€) 1 i
— ® ,_./3

ﬁqﬂ?fﬁ?ﬁxu afﬁy°$ﬂﬁ§_

W x=50°%y =30°
®  x=30%y=50°
@ x=50%y = 60°
) x=55%y = 65°

15
m+\,§6+\fﬁ—\f§— V80
PTAA ¥ -
(A) V5(5 +v2) ® V(1 +3)
@ VEE+vZ) ® V52 +v2)



25 The perimeter of an equilateral triangle whose 25 I FAYSl &1 3% 4V3 em? &, dl

areais 4. 3 ¢m- isequalto
y IS IRET ' -

(A) 10 cm (8) 20 cm A 10 W (®8) 20 W
(€©) 12cm () 15 em © 12 A (D) 15 ¥AY
% The value of(x - f) (1‘: +2+ :_:) is | 2 (.1’ _ E) (;(2 +2+ iz) COl E

y X >
;Tiuafto ; A pEns 4 8
x X+ ——
.‘.'3 +2x+ -— 8 ! x
x |
[ (8) 3 8
® . 8 ¥ =3
x5 =53
) (© 8 (D) 8
@ . 8 © , 8 = i
e T X =g £ *
X x=

27 If the ratio of volumes of two spheresis 1:8,{27. Ife @Y Mal & JIFA[T § 1 : 8 &

then the ratio of their surface areas is JqUE ®, O SAb g% YOI H U
(A 1:8 8)1:4 BN -
@ 1:6 ©)1:2 (A) 1:8 (B) 1: 4

© 1:86 ) 1:2

B

1 = 1
i 11'--—) = 3 then the value of % gfe (x+i)=¥f§€f.?ﬁ(x3+x—s)

(F - ;_)mllbe P AM BT -
| (W) 33 (8) 0
A 3.3 (8) 0
© 3(v3-1) @) 3(v3+1)
@ 3(v3-1) ) 3(v3+1)

2z Find eguation of line passing through the two | 29. Y ﬁ'_q:‘aﬁ (3,5) IR (—4,2) ¥ BN

points (3,5)and (—4,2) S atelt Yar w1 At &
(A 3x-Ty+26=0 A 3x-7y+26=0
B 3x+7y+26=0 B) 3x+7y+26=0
€O 7x -3y +26=0 €@ 7x-3y+26=0
D) 3x -7y +62=0 0 3x-7y+62=0
Page: 7 354997
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31

- The solution of equation V% L 2y§ =155

11

The L.C.M. of 12x%y3z2 and 181'4}'22355

(A) 21xyz ®) 36xyiz?

€@ 24x%y2z2 ©) 32x*yz?

The median of the following data 25, 34, 31,
23, 22, 26, 35, 29, 20, 32is
(A) 295 (B) 27.5

() 30.5 (©) 22.5

(A) 25, 27 (8) 25,-27

(€ 125,-27 (D) 27,-125

Vertex of a triangle are (4, 6), (2, -2) and (0, 2),
then co-ordinates of its centroid must be
(A) (1, 2) (8) (-2, 2)

(2,2 (D) (2, 3)

=1
iftan (A+B) = \fgand cos (A-B)= E,the
2

vzlues of A and B are

(A) 40°, 20° (8) 15° 30°

Q) 45¢ 15° (®) 60° 30°

The value of cos20° cos70° — sin20°
sin 70"

(A) O (B) oo

(C) None of these (D) 1

e

30.

31.

32.

33.

35.

2 3R 18x4y?z® P @9 g |

12x%y°2
W 21xyz ®) 36x%y’z’
© 24x*y*z? (@) 32x%yz’

Py sffmel @ Wt & -
25, 34, 31, 23, 22, 26, 35, 29, 20, 32

(A) 29.5 (B) 27.5
(©) 30.5 P) 225

2 1
THIDHRIT y§_2y3=15$1'5'a%
(A) 25, 27 (8)  25,-27
() 125,-27 (D) 27,—125

ofe By & MY b Fdwie @, 6),

(2, -2) R (0, 2) &, O D Hud &
e 2
(A) (1, 2) ®B) (-2, 2)

© (2, 2) D) (2, 3)
afe tan (A + B) = /3 3R cos (A -

V3@ @rAcRB & amE

B) =

2
(A) 40°,20° (B) 15°, 30°
(@ 45°15° (d) 602, 30°
cos 20° cos70° -  sin20°
sin70° sroed-
(A) o (B)

© T ¥ a1F 95 0 4



% The Quadratic equation, whose roots are
4+47 4-+7 .

and is

-
-

437 +16x+9=0

-
L

(A)

36

4447
2

R Rua whewr & ga

IR AR a el -

2

(B) 41°—161—9 =0 (A) 4x* +16x+9 =0
(© 4x°—161+9=0 | ® 4x?-16x-9=0
0) 41" ~161 -9 =0 © 4x°-16x+9=0
@) 4x‘+16x-9=0
7 f 27 = 5Y = 107F then the value of |37 gfer 2*=5Y=107% ®, @
[i+:—--i\:s G+l+l)$]"qﬁg_
X ¥ > ¥y z
A 3 (8) 5 (A) 3 (8) 5
©o0 (o) -2 © o (0) -2
% The perpendicular distance between two |38 @] {HER Y@ 3x+4y—6=0 IR
paraliel lines 3x+4y—-6=0 and
3 6x +8y+7=0 & &9 o g0 &
6xr -=8v + 7 = Qisequalto .
(A) 10/19 unit () 19/2 unit
{A) 10/12 unit (B) 19/2 unit . .
(€ 19/10 unit (D) 19/5 unit
{C) 19/10 unit (D) 19/5 unit
% The volume of a cuboidis x3 — 7x + 6, then | 39. TG BIH &1 AT 43 _ 75 4 g &, A
the longest side of cuboid is T @ qE o o e -
Al x -2 (8) None of these (A) x —2
0 -1 D) x+3 [B]gqﬁﬁzﬁg:{ﬁ
€ x-1 D) x+3
4 The value of expression 40. 10gﬁ —logi- logl S HE B -
14 3 ! 7 is 15 25 9
logE*logzs- 023! (A) o (8) 3
(A) 0 (8) 3 © 2 () 1
© 2 (D) 1
Page:9 354997
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41 A Verandah of area 9(Q m- is around a room

of length 15 m and breadth 12 m. The wadth of

the Verandah is

(A) 15m (8) 25m
0 2m ®)1m

“ The value of log: | ‘ ] is
N 3 ® 3
05 D) 0

41

42

¥ points (5, 5),(10,k) and (—5,1) are|4

collinear Then the value of k is
(a) B {8) o

Q6 {D) 7

« Thefactorof (a%b* — 16¢%)is

W ea e - c7) ab- 2c)(ab+ 2¢)

® a2t~ - 4c*) (ab+ 2¢)°

0 z°p° - &c°

ab + 2c)(ab- 2¢)

®) 20" - 4c” )" (@b + 2¢)(ab+ 4¢)

The length of sides of a triangle are in the ratio

Z 4 5 and its perimeter is 144 cm. The area
of triangie 15

W 764 om? (8) 684 cm?

10 864 cm? ©f 664 cm?

“ Rav can do % of 2 work in 12 days. In how
many days Ravi can firush the ¥, work ?

(A) 2 days (8) & days

(C) 7 days

44

45.

5 mad AR 2 m I TR F aqp
AR 90 m? mﬁﬂwm&?ﬂ'
@He B dreTs #
(A) 1.5 m
€ 2 m

(B) 25 m
@ 1 m

1035 (_.L.) &l HAF g =

125

n -3 (8) 3

€ s (D) o

afy iy (5,5),(10,k) 3R

WG 8, ar k BT A B
(A) 8 (8) g
© 6 (o) 7

(=5,1)

(a*b* — 16c%) P ToHETS &

(A) 4(a*b? + c*) (ab— 2c)(ab+ 2c)
(8) (a’b® — 4c?) (ab+ 2¢)°

(© (a’b? + 4c?) (ab+ 2¢)(ab- 2¢)
(D) (a?b? - 4c?)? (ab + 2c)(ab + 4c)

Pryst @t qonelt &1 U 3 : 4 5 &
IR IEFHT URANT 144 cm B @ STS
&FBS T B ?

(A 764 cm? (8)

684 cm?

© 864 cm? @) 664 cm”’

W o3 9 B 12 RAT § ww a@ar ¥
@y W FA AR P e R

LD

SRUY;

(D) None of these (A) g faq (8) ¢ fas
© 7 fag (D) 3 A P TE
Page: 10
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49

The earth makes a complete rotation about its
axis in 24 h. What angle will it turn in 3 h 20
minutes ?

{A) 120° (B) 130°

(€) None of these (D) 50°

If side of cube is 6 cm, then the diagonal of
cube is

(A) 3y2 em B 23 em

© 6v3cm ® 6v2 cm

If V3x —2 = 2\3 + 4, then the value of x
is

W 2(1+v3) ® 1_43

© 143 ® 2(1- v3)

+si .
The value of : i T
1-sinx

(A} secx -tanx (B) tan x — secx

(©) secx—tanx (D) secx+tanx

47.

FA H 24 99 I ®, o 4 3 gUel
20 e & feam o gl
(A) 120° (B) 130°

© g &

afe ¥ d 49 6 WH B @ T @
et &

A 3y2em B 23 cem

(D) 50°

@  6vV3em ®  6v2em
Hﬁﬁx_2=2@+4?ﬁxﬁmg
W 21+v3) ®1-43

© 14+V3 ® 201 - V3)

1+sinx FOAE & -

1-sinx

(A)sec x -tanx (B)tan x — secx

(Osecx —tanx (D)sec x + tan x

IV

Page: 11
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SECTION - 1i
PHYSICS

51. A body weights 75 gm in air, 51 gm when
completely immersed in unknown liquid and 67
gm when completely immersed in water. Find
the density of the unknown liquid

W 6gm/cm® ® 8gm/cm?

© 3gm/em® ©® 4gm/cm?

52 A charge of 10 coulomb is brought from infinity
to a point P near a charged body and in this
process 200 joule of work is done. Electric
potential at point P
(A) 20V

(€) 10v

(B) 100 V
(D) 200 V

52 Two resistances combines in series order
provide 50 ohm resultant resistance and when
it combines in parallel order provides 8 ohm
resultant resistance. Then the value of each
resistance.

(A) 21 ohm and 29 ohm

(8) 10 ohm and 40 ohm
(C) 20 ohm and 30 ohm
(D) 15 ohm and 35 ohm

5¢ A ball is released from the top of a tower of
height h meter. It takes T seconds to reach
ground. What is the position of ball above the
ground in T/5 seconds ?

1“1'[.."
WMfas I
51 g fue &1 &1 § SHAF 75 gm ® |

FeTd &9 W T w9 A §EM W 51 gm

g ® -
™ ggm/cm® ® 8gm/em®

© 3gm/cm® © 4gm/cm’

52.1oi§maﬁﬂﬁmﬁwm
IRy F 9HY fig P TF aF W 200
g & dea sl & | g P w

faega fawa & -
(A) 20 g (8) 100 dree
(© 10 Qe (D) 200 dlee

53 g yieRw W Aoft W # waifea fea
S € A 50 AW AF B AfoRM e
A € qAT 99 S JER HH W ared
g 8 W & ufeR™ weH & | T
R} &1 °99 8 -

(A) 21 3 IR 29 I
(8) 10 39 3R 40 3w
(© 20 3 3R 30 AH

(D) 15 3 IR 35 34

5. U dic, h $d15 & @< & AY A BIE
Sl ® S 59 9% ugen § T Ao
B GHI oAl & | T/5 AFVS 41 dicd B
SHE o g enft

(A) h (8) 24 (A) h (8) 2
Scm — hm — 1 a8 h
25 25 25 25
(€ 25hm (D) 24 hm © 25 h f (P) 24 h f
Page: 12
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55 One proton enters in a magnetic field of 2500

€

N / Amp- m intensity with velocity of
4 x 10° m/sec in parallel of field. The force
exerted on proton will be

(A) 48 X 10~1°N (8 ON

© 48 x 10*°N  (P) 048 x 10-1°N

An object 4.0 cm in size, is placed at 25 ¢cm in
front of a concave mirror of focal length 15 cm.
At what distance from the mirror should a
screen be placed in order to obtain a sharp
image ?

(A) +255cm (B) + 25 cm

© —375cm ) —355cm

Heat (in calorie) required to increase the
temperature from 10 °C to 20 °C of 6 kg

copper is same as heat (in calorie) required to
increase the temperature from 20 °C to

100 °C of 3 kg lead. If specific heat of copper is
0.09 then the specific heat of lead will be

55.

57,

U6 WM 2500 YeAmfagedt  ad
Wﬂaﬁ4stﬁ$aﬂém

$ IR YAY R £ | WA W
IR g1 FT 71 B

Wag x 10710 eI

g e
©48 x 1010 e

(00 48 x 1010 ~ge

TH 4.0 TR APR & I& Fdqed  SUoT
ot »ow g 15 9 & & R
25.0 ¥ ¢ W Red 2 | 39w 4w
W R @ E&f @ o 6 awg & feo
gfifere a9 & 2
(A} 4+ 2553

(8) + 25 3

(€ — 37.5 () — 355 aH

6 fdm did & awEHE 10°C ¥ 20°C

d® deM H Iad & HARl ST D
aﬁmﬁns\ﬁﬁ.ﬁaﬁ’ifﬁamm
Wﬁmﬂﬁznccﬁlggccfﬁ?ﬁﬁﬁ

Jqeaeal Bt & | afe did @ falre
S 0.09 B, @1 WY I falRme e

(4) 0.055 (B) 0.044 Bt
(©) 0.022 (D) 0.033 (A) 0.055 (B) 0.044
(€ 0.022 (d) 0.033
g 15 354997
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58 A stone is gently dropped from a height of 5% U@ YRR 20 # & SHas W ARmET S

20m. If its velocity increases uniformly at the |
rate of 10 m/s*. With what velocity and after

what time will it strike the ground ?
(A) 10 m/s, 20 s (B) 20m/s, 2 s

(€) 10m/s, 2 s (D) 20 m/s, 20 s

The gravitational force between two masses
kept at a certain distance is ‘P’ Newton. The
same two masses are now kept in water and
the distance between them are same. The
gravitational force between these two masses
in water is ‘Q’ Newton then

59.

2l fRA & 3RA TR & I
loﬁ/ﬁﬁﬂﬁmglww

THAT TG TR B 9T UG o GHg
B
(A 10 R, 20 AFTE

(8) 20 /A, 2 AFUS
© 10 A, 2 AFvS
(0) 20 WA, 20 VFTS

a FEAE W W@ R W fifeq
wﬁaﬁﬁ.ﬂsﬁaﬁrm

BP < Q

A P > Q B P< Q
Oz & P15 7@ PP = Q
(© None of these b)) P=Q

5 The capacitance of a capacitor is 3 uF. If 108 uC | &0 Uss GeR= @ =@iRar 3 F & | afd s
charge is available in it, then what will be| 108 \C @ smw & @ TRT @ el
potential difference between plates ? & 49 favarx 8 -

&1 Magnetic flux of a 20 round coil is reduced to [ 6. TF 7 WRI B TSl W dF FEDIY
2ero from 0.3 weber in one second then the|  qorry 1 Yvs # 0.3 IR Q Teaw T
induced e.m f. between the terminal of coil [ AT B, @ Pl & RRI & dig
(A) 15V ®3v uRa Red aes aa (em.f.) B -
© 25V (o) 6V (A) 15 diee (8) 3 die

(€ 2.5 dec (D) ¢ e
Page: 14 i
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« A spherical mirror and a thin spherical lens
each have a focal length of — 15 oy, Nature

of mirror and lens will be
(A) Mirror concave and lens convex

(8) Both concave
(€) Both convex

(D) Mirror convex and lens concave

s3 A wooden block of mass 6 kg is pulled across a
rough surface by a 54 N force against a friction
force F. The acceleration of the block is
6 m/s? then the value of friction force F is

(A) 18 N
(SN

(B) 54 N
(D) 36N

s An object is placed in front of a convex lens of
focal length 12 cm. If the size of the real image
formed is half the size of the object, then the
distance of object from the lens
{A) 36 cm (B) 48 cm

(€l 30 cm (D} 26 cm

55 A particle is moving along a circular track of
radius 1 m with a uniform speed. The ratio of
the distance covered and the displacement in
half revolution is
AW mr:1 (8)

1% 3

@ :2 D) 2: 1

% A car of mass 2000 kg is moving with a velocity
of 18 km/h. Work done to stop this car is

A 25 x 10%joule(® 2.5 x 10° joule

© 25 x 10%joule® 2.5 x 10*joule

2 & My qqvr aiR @ uden ey v
ST B P 8 156 & | IO W

oRT B -

(A qo JqqeT AR T S
(8) ST raqet

(O IH} S

(0) gy Iqer AR o1 rqdd

63.

6 o gamm & w aed &1 wiiE
Y §d F & favg 54 N 91 TR U@
SNl U8 W G o & | A @
R g5/:28, A G qF F B A

BT -
(A) 18 N
© 9 N

U a& 12 9
& 9 e
P APR, a
G D o
(A) 36 A

(© 30 I (0) 26 AW

T B 1 H B § qeR W™ W
TOE A9 ¥ fd @Y e § |
IET GFBY AN H dell
e # IuE & -

(A) m:1 (B) i K

© 1:2 P) 2:m

65. 2000 kg B TP PR 18 fdHyEver & am
¥ 9 W@ 2| BR P ADT A DA B
B |

(A) 25 x 103gs (8) 25 x 10° 3=

© 25 x 10°s= (@ 25 x 10*gw

(Y

Page: 15



travel 1 km ?

(A) 25 minutes (B) 25 seconds

(€) 2.5 minutes (D) 2.5 seconds

In an L-C-R circuit, 100 volt alternating voltage
is applied between end points. In circuit
inductive reactance XL = 20 ohm,
capacitance reactance is XC = 20 ohm and
resistance is of S ohm. The impedance of circuit
will be

(A) 45 ohm
(C) S ohm

s

(8) 15 ohm
(D) 20 ohm

Vi Vi,V are the velocities of violet, red and
green light respectively, in a glass prism. Which
amaong the following is a correct relation ?

(A) Y" =~ YC- < \rR (B) Vv == .VR v 'VG

(=] t‘-‘_ < Y'R < ‘TG (D) V" VR = VG

100 gm of water at 60 °C is added to 180 gm

of water at 95 “C. The resultant temperature

of mixture is
(A) 85 <C (8) 77.5°C
9 80 =C (D) 825 °C

If radius of Earth shrinks by 4% and mass of
Earth unchanged, then the value of
acceleration due to gravity will be changed by

70.

T

87 A sound wave has a frequency of 500 Hz and |67 500 sl agfr ud so I e @
wavelength 80 cm. How long time will it take to |

@ @y o B 1 Rl g T wA F
THA o
(A) 25 e (8) 25 ¥FHUS

© 25 fiFe (D) 2.5 AHve

& L-C-R iR9y & RRT & fi9 100 diee
H goaradt RQwg omar T €1 WRuy F

WUt gfyara XL = 20 3w, aRdg
gfrard XC = 20 3W g 3dim ufRy
R =5 3 8 | iRey & gfemer enf
(A) 45 W (8) 15 3w
© 5 3y (D) 20 3H

g $ TH o0 § L o @ =
PR B AT BV, Vp, Ve €
e 4 9 o9 o g 9d © 2

AV, < Vo < Vg BV, > Vg > Vg

Icl VV < VR < VG ID]VV = VR —_ VG

60 °C 9 & 100 TH UFI B 95 °C Y

arel 180 WH YAl ¥ g oi@r &€ 9
fysor o1 gRemR a9 Be -

(A) 85 °C (B) 775 %€

(C) 80 °C (D) 82.5°C

e @t B oA 4% Rigs 9@ T
THH § BIg GRad T 81 A o
@YU b HE ¥ yRadd B8rm -

(A) 8% (B) 4% (A) go4 (B) 49
() 2% (D) 16% () 29 (D) 16%
Page: 16
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 In a simple pendulum experiment, a student |72 f&ft B ERT W AAF B TAT P

calculate the value of g is9 92 1 /52 but the |
standard value of g iS9 80 m/s? then the

percentage error in the calculation of gis
(A) 1.12% (B) 1.32%

(© 1.22% (D) 1.42%

The electric field strength at a point in an
electric field is 30 N/C. Find the force
experienced by a charge of 20 C at that point
(A) 300 N (8) 30N

(© 20N (D) 600 N _
. Two unlike parallel forces 2 N and 16 N act atI
+he ends of a uniform rod of 21 cm length. The
point where the resultant of these two act is at

z distance of from the greater force.
(A) 2 cm (B) 1cm
(O 4cm (D) 3cm

= 100 joule of heat is produced each second in a
4 phm resistance. Potential difference across
the resistor

73.

75.

9T MU §RT )@ B AM 992 m/s?

o B & | 9dfe g B wmEIfere A
980m/s? & | @ g & WA & HPHeTT

§ wfwa 3fe anfr -
(A) 1.12% (B) 1.32%
(€@ 1.22% (D) 1.42%

s faem &3 f el g W 9@ &3
A dgar 30 Yepam € | 39 g ®
20 $AM & IV W T Tl B
(A) 300 = (8) 30 =

© 20 <geA (0) 600 =

T IHE AR 9 2 N 3R 16 N U6
21 A ol B P AR R a1 &= W@
£l R 9d ¥ U g A b oFf =
W I&d aFl gdl B RO o
FTT -

(A) 2 4 (8) 1 I

© 4 I (0) 3 O
4 39 ufoRe # ufd ¥FHvS 100 S HET

IO @ ot § 1 ufeRe & RRI W
favar=R 8r -

(A) S0V (8) 20V (A) 50 dlec (8) 20 dlcc
(0 100 vV (D) 40 V (€©) 100 drlee (D) 40 Qdree
|
Page: 17 354997
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SECTION — 1l .
CHEMISTRY
The half life period of a radioactive element is

150 days. After 600 days 1 gm of the element
will be reduced to

76.

(A) 15 (B) i
16 5™ 32 8™

© 1 © 1
Tha g &M

Hardness of water is due to the presence of
(A) Sodium and Potassium salt

{B) Calcium and magnesium salt
(C) Lead and copper salt

(D) None of these

78 The number of molecules present in 2.8 g of

nitrogen is
A 6023 x10- (8) 6.023 x 10*
0 6023 x 10* (D) 6.023 x 10%°

Equivalent weight of a dibasic acid is 12. Its
molecular weight is
(A) 48

© 12

(8) 24
(D) 6

Which among the following pairs are not
having same number of total electrons ?

77.

78.

T4,

80.

far € 1 600 a7 4@ 1 gm T =
STQ
(a) 15 e 1
16 ™ 2=
(© 1 o 1
167" g &

(@ S Td HIUR Ao

(D) 379 9§ Iy &l

2.8 g AgGIS H (U] B SUReT
&

(A 6.023 x 102 (B)  6.023 x 10*
(©  6.023 x10* (D) 6.023 x 102
e fgwfee srd & gouiet R 12 § |
SUSDT IJUMHR BN -

(A) 48 (B) 24

© 12 (D) 6

frefofRes & & @9 w1 gwm wue
TolagGE AT arell F8l & 2

(A 0*" and F~ (8) P-3and Ar (A 0" w=F~ (B8] PpP3gAr
(@ Na®and Al** (D) Mg?* and Ar €@  Na*wAl?* (@ Mg?* @ Ar
81 Among the following, ionic hydride is o1. fFferRea 9 @ smaf e eEgEs © -
(A} MgH, (8) PH, (A MgH, (B)  PH,
© SiH, (®) BH, (©  SiH, (0)  BH,
Page: 18 354997
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82 WO wfhar wan A andt & uRaffa s

Cracking is a process used for change in
(A) Alkanes to aromatic hydrocarbons

(8) Higher molecular weight alkane to lower
molecular weight alkane

(©) Ketones to aldehydes
(0) Alcohols to aldehydes

& F.C = CF, isa monomer of
(A) Buna-S (8) Teflon

(©) Nylon-6 (D) Glyptol

In which of the compound oxidation number of

oxygen is 42 ?
(A F.0 (8) 0O,
(@ Na.0; (0 K,O0

== An example of thermosetting plastic is
(A) PV.C. (B) Polythylene

(C) Bakelite (D) All of these

% Which catalyst is used in oxidizing NH; in

Ostwald’s process ?
(A) FeD

(@ V0,

(8) Molybdenum
(D) Pt

% An organic compound contains carbon =
38.71%, Hydrogen = 9.67% and Oxygen. The
empirical formula of the compound would be
(A) CH,0 (8) CH,O

© CH,0 (o) CHO

8 Essential constituent of an amalgam is
(A) an alkali (B) Mercury

(©) Silver (D) an alkali metal

T

& forg
(A) Yo B Wfed eI |
BT JUMR qldd Tobd @I A AR
diet Yobd |
@ $ o tesess #
0 TehiEld # Cfeserze A
8. F,C = CF, Todi® & -
) 1S M (8) 2GAT Pl
© Sdr-e &1 (D) faetd &

s fom A Q@ fou AR A IiRieT & fag
JHTRITHoT T BT A +2 87
(A F,0 ® 0,

(©  Na,0, )  K,0

85. AR fcd @ Tb SaTeYl © -

(A pyv.C (8) dfefiefi
(© ¥FcTse (o) I ¥
g dificdles fafy # ey (NHy) @
3ifRfTeRoT § WOE SORE ©
(A) FeO (B) HictiesTH
© V,0, (D) pt

5. Uh dEFP U H BET = 38.71%,
RSN = 9.67% a¥T i §
e B JATIRN GF BN

(A)  CH,0 (8)  CH,O
(© CH,0 (o)  CHO
88. IHTTH B B UTH &
(A) TF &R (8) gRT
(© 4rdY (0) TP &R ©1g
Page: 19 354997



89

91.

92.

93

11T

Real gas behaves like ideal gas at
(A) None of these (8) High temperature

(€) Low temperature (D) High pressure

Electronic configuration of copper can be
represented as

(A) [Ar]4s23d®4p! ® [Ar]4s?3d'°4p’

(© [Ar]4s'3d*® (@ [Ar]4s?3d°®

Detergents are the salt of
(A) Carboxylic acid (8) None of these

(€) Carboxylic acid and Sulphonic acids or alkyl
hydrogen sulphates both f

(D) Sulphonic acids or alkyl hydrogen sulphates

10.0 gm CaCO; on heating gave 5.6 gm of CaO |

and 4.4 gm of CQ,. given data support the |

[
law of

91

92

aafds Mg Iy T H dRE WIER
F E

(A) 379 9§ PIg el

(B) Izq A R

© = qEE ®

(0) I=F qE W

HR 1 sodce A yelia f&ar
o Sl &

(A)[Ar]4s23d°4p' (B [Ar]4s3d*4p’
(© [Ar]4st34d*° (®)[Ar]4s?3d”
festew oaur & -

(A Fraffafas ard (B @ el

(©) Fraffafrd 3 Ud AeHId A Al
Ufedel BIEEIH Tebe

OIaeEfiE s a1 Rdd EEENA
e

10.0 gm CaCO, ™ FA W 6.6 gm Ca0
gm co.%@ ® | Ruw g
e fPraw &1 owelE FRan & -

Td 4.4

(A) Multiple proportion ‘ (A) ,Iﬁq.ﬂ I (8) fReRr SRR
(B) Constant proportion O za & IR &1 BAgE
(€} Law of conservation of mass © A it
(D) All of these |
Hydrocarbon used for welding purpose is u JfedT ¥ ugaa EEQIEET &
(A) Ethane (B) Ethyne (A wIF (8) ZUATSH
(C) Benzene (D) Ethene € &9 (D) g+

|
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>

N mthefoilowingreacﬁon ey afifdea

- ey 0 IS+ 2H.LD
:‘0:_..*}_:5—-——*‘_.. <H.(

SO, + 2H,S —» 35 + 2H,0

(A) Sulphur is reduced and oxygen is oxidised APEHFY & qgus 4 A@rAaqd &0
(8) Sulphur is both oxidised and reduced iffipeor gan & |
(@ Sulphur is oxidised and Hydrogen is reduced B GEpy 1 N 4 AgaaT AT
& |
(D) Hydrogen is oxidised and Sulphur 1s reduced (©) TEHR &ﬁﬂ'\'ﬂgﬁ v Wﬂ Foafig
g R |
Ogrgga JAfRfipa vd Tewy Fuafda
& |

« Amount of copper deposited on the cathode of | 95 HGY ITSpHe A B Gl feelt faega FTTEAT
2n slectrolytic cell containing copper sulphate A ¥ 2 ufiggy 9 grT 30 fe %
solunon by the passage of 2 amperes for 30  yaifgd o9 W S W WA DR B
minutes — (At. mass of Cu = 63.5) HHET € - (PO B GRH] HR = 63.5)

(A) 1.184 gm (8) 0.1184 gm | (A) 1184 gm (8) 0.1184 gm
(0 02214 gm (D) 2.214 gm (©) 0.2214 gm (P) 2.214 gm
i
% Which of the following types drugs reduces 9. I ¥l E’qé'!ﬁ qER HH TRA B BH
fever ? i I € 2
&) Antipyretic (B) Tranquilizers ‘ (A) TEgrRfes (B) W
(O Anaigesic (D) Antibiotic (©) TeIiTS (0) TEemEifes
¥ The IUPAC name of 7. CHs
Cﬁll"l:

&~ J

| .~ HC=C-C-CH,®T IUPAC AM ¥ -
HCEC—C'—CHEIS : |

H
H (A) 3-FrEnga-1-Ierg
(4) 3-Methyl-1-Pentyne o 3-ITgd-4-UreTgA
8] 3-Methyi-4-Pentyne (O 2-Feget-2-TargH
(€ 2-£thyl-2-Propyne (0) 3-fengd-5-tergy

(©) 3-Methyl-5-Pentyne

354997



9. The rate of diffusion of a gas is r and its density

is d, then under similar conditions of pressure
and temperature

(A) ) (B) 1
I — r o —
vd
€ rocd @) rxyd

9% Which of the following order of ionic radii is
correctly represented ?
RMHE->H*>H (8) Na* > F~ > 0°-

@ F >0 >N\a

(D) Al** < Mg®* < N3-

102 The common name of 2-Butanone is
(A) Acetone (B) Butyraldehyde
1O Acetic anhydride

D) Ethyl Methyl Ketone

R & AR & T r TAT SAFT
%ﬁdga‘rmﬁaawmﬁﬁqﬁ
q

3
w 1 L

s d '\"'E
© rod D)  rx+d

o e gt & foag fafaRed & o
HF A1 & B T 2
(AJH- > H* > H (B)Na* > F~ > 02-

(©F" > 0>~ > Na*

(D)AI3* < Mg?* < N3-

100.2-Ellé1ﬂ=|‘ B AMFT 99 ©
(A) qEfes B) FfRfesems
@ Rifesd reEsEs
() gerrge femsar @iem
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